EARAZROREIERT — 2 N—XBISY —F 20125128158 (£) 5M@EIBR##5H

Bl=5%s 16007T ¥5%3mE (BE) UEE]l N7 EE Y
[A&4£] 1 7 :17,000,000 § 2 7% :6,800,000 § 3 3 :4,300,000 § 4 3% :2,600,000H 5 3% :1,700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . C. A=) . _9_o_ — EREE (ER)
1Pl g| bITTILRE=I 235 1.&)).5 2-2-2-2 | 36.9 3 34) ERLE
R:TwINEry b BIIUESLTLZR 2T FHE
5 = 46 | AHERH 1:50.9 5-5-4-4 | 37.1| — 6 520 | sEYRE (R®)
2(1|o|Ya—X*7% 55.0 21/2) © |EEULF
R:xA1=ZGr7—R B:Va—-twsL&)— He Bz
- = > 6 | BREED 1:51.0 1-1-1-1 | 37.6| — 9 582 | =ERHM (RR)
3PN 7| @XM A—RAT L 55.0 (1/2) (g | SEFE
R:d—ILK7U1—Ib BERATLA AR —8l
= S 4 6 | FIHEZ 1:51.2 10-8-7-6 [37.1| — 7 518 | AIRE (EXR)
1 > Rl E! 5.0 (1" 1/4) 4e) | B HrF-L-—v>Y
RR—NRFIAYLF— B:TETAT J—H Ty — I
N S 4 5 | C. 233> 1:51.4 3-3-3-3 |37.7| — 2 504 | MEIEH (ER)
5011 INR=FK=J [B] 57.0 (3/4) ) (®B) ¥vOy bT7—L4
Z:va7% BEXV K= =Ty —LA
N HERR :51. —6-5- . — FHEX (E#
6|8[15| @7 X UALT 1S~ SRR W | T " s
A:Bernardini £}:Zappeuse Woodcote Stud, Lt
= 44 | EREH 1:52.0 3-4-5-6 |38.1| — 5 504 | RBBIEE (RR)
70713 7T TLR>TA 55.0 @ 172) o | TEER
R:TUHA XTI K B:IEUDHIL aE JE—
P s I 4 o7 | EEN 1:52.2 12-12-11-11| 37.4 | — 15 50 | FRFE (BR)
8 | Fv7roeor 54.0 (1 1/2) () |EAARER
X+ TT7LR70—7 BIUXTAT A~ [ 4%
NS NS HEER :52. ~15-15- . - NEFER (ER)
9 A NTALL Y p— 6 2 1(752t)2 15-15-15-15| 37.0 13 :1_768) Phba
R:TI978%¥>—K B:o7b LTy HH BB=
j < 4 4 6 | HrEmE 1:52.3 14-13-9-10 | 37.8 | — 16 | 468 |WLAREI= (5E3X)
10/8|16| 7V —AZ—F 7 50.0 (7E) o | ) Fns<xvacp
RXLTHAANXIN BTATE21—T+1 24 1 FHS
NS 4 5 | EGRIEX 1:52.5 15-15-15-15| 37.3 | — 4 478 | BE (FH)
15| 9| 7N b 5.0 doo o | Tor -
R:TFAT B4 L BRLIT2 AE%E
>3 45 | ELRE 1:52.8 10-8-9-8 [38.3| — 12 | 486 |HEBEXR (BR)
12 6 7y va—Ilb 53% (1 3/4) (+2) HHEBECS
AN w4 =T BTAIX BAR XE
. . N BB :52. —6-8- . — ket (EX)
i 5| AT —4Y 3 s 1(/53333 5-6-8-8 | 38.4 8 zzg;t é%%%ié:
R:TFyraFS—F B:TULEIXF-0OF e I
= S 4 5 | ESEME 1:53.2 12-13-14-13| 38.1 | — 1 | 478 |BRE (FEX)
14714 ¥ =71 XT5 07 5.0 2172 o) |HEER
XL ThANAN B:TLIvXX—)L LIS
W N, 4 5 | AERE— 1:53.8 8-8-12-13 | 38.9| — 14 | 504 |BE—& (BR)
1515 (10| @&V IN=2T 53.0 3 1/2) (vg) | BARERLE
:Yes It’s True B4 7x/N— Hokuyou Farm
Y. o6 | AEEN 1:53.9 8-11-12-11 | 39.1 | — 10 | 480 |ARE (RR)
1ojgy 12| PEEET > b 54.0 (172 (o |PEEF
R:THINEry b BILES R ST A — Filll7 7 — L
@ 71 L
) 49.4-37.1
NA>Z4 L | 12.8-11.2-12.6-12.2-12.3-12.3-12.2-11.8-13.1
® I —F—@EBIERL
1T=7r= (x7,8) (1,13)-(2,5,15) (10,12) (3,6) (11,14)16-(4,9)
2=1—f— 7,8,1,13,2(5,15) (3,6,10)12,11(16,14)-(4,9)
Gal=7r= 7,8,1,2(13,15)3,5(16,6)11(10,12)14(4,9)
40—+ — 7,8,1(2,15) (3,13) (6,5)16(11,12) (10,14) (4,9)
[ N3
BB 8 450M 714K 2-8 970M e E 1-4 540 JEHE 2-7-8 36,650
8 B 8 200M 7-8 1,870H B = 2-8 3,310M B 8-2-7 150,400
2 380M 2-7 4,640M| | B H 8-2 5,210
7 790H

ABICOVWTRDTEEERROODE. TR LIV,




